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SM: A=A
& 500 BX3
Z ;510 202 E3E
5 @ 511 BDEEIE (69 @2
SN-F-B--2 Ol & &1 = 0fl ot o Bl =2
500 Ex3 291,593 169,709 121,884
510 3 082X3S 261,593 159,297 102,296
511 =2 08EX=S 261,593 159,297 102,296
511-01 202 x3 261,593 159,297 102,296
Q=2 SEANS N 11,496
OWAAMR tHEHZH XI& 3,010
O&E=2 % XGtAIEE(Aot+5) B ALY 90,000
OXETHEAALY =& 90,000
OME S AR ZAF - &HE 67,087
520 Al - EHIEZX=2S 30,000 10,412 19,588
521 Al - SHIBXZ2S 30,000 10,412 19,588
521-01 Al - SHIE X3S 30,000 10,412 19,588
OS2 2 NGHALS(45t4E) Hast A 18,000
Coe FEEZ 8,000
ORNNEHEET 4,000




